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QUESTIONS

1.
In addition to identifying a company’s weaknesses, financial statement analysis can be used to predict a company’s future profitability and cash flows based on its past performance.

2.
Comparative financial statements provide a better indication of the nature and trends of changes affecting a business enterprise. Absolute amounts, in the absence of a benchmark, are not very good indications of performance or efficiency. Comparative statements at least provide a basis for judgment with respect to other periods of time or industry data.


Comparative statements are more useful if there is uniformity of presentation and content, consistency of application of accounting principles, and disclosure of significant changes in circumstances and the resulting impact of those changes.

3.
Analysis of financial ratios does not reveal the underlying causes of a firm’s problems. Financial statement analysis only identifies the problem areas. The only way to find out why the financial ratios look bad is to gather information from outside the financial statements: ask management, read press releases, talk to financial analysts who follow the firm, and/or read industry newsletters. Financial ratio analysis does not give the final answers, but it does point out areas about which more detailed questions should be asked.

4.
A common-size financial statement is a financial statement for which each number in a given year is standardized by a measure of the size of the company in that year. A common standardization is to divide all financial statement numbers by sales for the year. Common-size statements make possible a ready comparison of financial data for companies of different size—either the same company in different years or different companies at the same point in time.

5.
The DuPont framework decomposes re-turn on equity into three components: 
profitability, efficiency, and leverage. For each of these components, a single ratio is used to give a summary measure of how the company is performing in that area. The summary measures follow:


(
Profitability: Return on sales


(
Efficiency: Asset turnover


(
Leverage: Assets-to-equity


Once the DuPont framework calculations have given a general picture of a company’s performance, more detailed ratios can be computed to yield specific information about each of the three areas.

6.
a.
Inventory turnover is computed by dividing the cost of goods sold for the period by the average inventory.


b.
In arriving at a rate of inventory turnover, it is essential that the inventory figures used to compute the average inventory be representative. If the beginning and ending balances are unusually high or low, the turnover rate may be misleading.


c.
A rising inventory turnover rate indicates that a smaller amount of capital is tied up in inventory for a given volume of business. This may indicate more efficient buying and merchandising policies. However, if the turnover rate is higher than for other firms in the industry, it may indicate dangerously low levels of inventory, exposing the firm to the risk of inventory shortages and running out of stock.

7.
a.
Times interest earned. Computed by dividing earnings before interest and taxes (operating income) by interest expense for the period. This measures a company’s ability to meet interest payments and suggests the security afforded to creditors.


b.
Return on equity. Computed by dividing net income by stockholders’ equity. This measurement indicates management’s effectiveness in employing the funds provided by the stockholders in generating profits.

c.
Earnings per share. Computed by dividing net income by the weighted average number of common shares outstanding. EPS is a number useful in evaluating the level of cash dividends per share relative to income and in evaluating the market price per share relative to income.


d.
Price-earnings ratio. Computed by dividing market price per share by earnings per share. The P/E ratio shows how much investors are willing to pay for each dollar of current earnings and is an indication of what investors believe about a company’s future growth prospects.


e.
Dividend payout ratio. Computed by dividing cash dividends by net income. This ratio reveals what fraction of income a company distributes to shareholders in the form of cash dividends.


f.
Book-to-market ratio. Computed by dividing total book value of equity by the total market value of shares outstanding. This ratio reveals how the market is currently valuing the net investment in a company relative to the amount of investment originally provided by the stockholders. Book-to-market ratios are usually less than 1.0, indicating that the market value of the firm is greater than the total equity funds provided by the stockholders.

8.
One of the factors affecting overall firm performance is the ability to invest in an asset and sell it at a profit. The turnover of the assets affects the return on assets because a profit will be made each time the operating cycle is completed (investment in asset, selling the asset to a customer, collection of cash). If within a given accounting period an organization completes more than one operating cycle, the resulting return on total assets will be a function of the profit percentage on each sale and the number of completed operating cycles. Thus, the return on assets may be increased by either increasing the turnover of assets or by increasing the profit made on each sale.

9.
The return on assets equals the ROE when total assets equal total stockholders’ equity, meaning that there are no liabilities. Overall, the ROE will always exceed the return on assets (unless a company’s liabilities exceed its assets); however, on marginal or new investments, this will be true only if the return on the new assets exceeds the cost of obtaining the additional funds.

10. Ratio comparisons can yield misleading implications if the ratios come from companies with differing accounting practices. Differences in accounting methods can make one company look superior to another even though they are economically identical. For example, if one company uses a 10-year life for depreciating fixed assets and another depreciates similar assets over a 15-year life, the decreased depreciation expense for the second company will make it look more profitable even in the absence of real differences in operating performance.

11.
Some of the advantages and disadvantages of each type of special-purpose statement follow.


a.
The statements have been translated into the local language, but no other changes have been made. Thus, the user is able to read the financial statements, but to fully understand their significance, the user would have to be familiar with the accounting principles used in preparing the statements.


b.
Statements denominated in the currency of the local user may be somewhat “better” than those discussed in (a), but the problem of unfamiliarity with the underlying accounting standards persists.


c.
Statements restated to reflect the accounting principles of the user’s country are an improvement; however, the degree of restatement will determine the degree of usefulness of the restated statement. Not many companies provide a full restatement.


d.
International accounting standards are gaining increasing acceptance among the international community, especially outside the United States. The problem with one global standard is that local economies, cultures, and business practices differ, and accounting standards should be flexible enough to reflect those differences.

12.
Mutual recognition involves country A accepting the financial statements of country B and country B accepting the financial statements of country A for all regulatory purposes. Although mutual recognition may be an inexpensive solution, the users of the financial statements bear the cost required to understand the GAAP of various countries.

13.
The primary factor to be considered in determining a foreign subsidiary’s functional currency is cash flows. In most cases, the currency in which the subsidiary generates and expends cash is that subsidiary’s functional currency. Other factors may be considered in determining the functional currency. Those factors include how the selling price of the firm’s product is determined, the source of costs incurred to produce the product, the subsidiary’s primary sales market, and where the subsidiary obtains financing. Management has the final responsibility for determining the subsidiary’s functional currency.


14.
When translating foreign currency financial statements, the exchange rate as of the balance sheet date is used to convert assets and liabilities, and the average rate for the year is used to convert revenues and expenses on the income statement. To translate common stock, the historical rate prevailing on the day the subsidiary was purchased or the stock was issued is always used in converting common stock from the foreign currency to the parent company’s currency.

15.
When the foreign currency financial statements are translated, the debits of the trial balance will, in most instances, not equal the credits. This difference results from the effects of the differing exchange rates. This difference between debits and credits is called a translation adjustment and is included in the stockholders‘ equity section of the balance sheet as part of accumulated other comprehensive income.

PRACTICE EXERCISES

PRACTICE 22–1
PREPARING A COMMON-SIZE INCOME STATEMENT

	
	
	   Year 3  
	
	  Year 2 
	
	   Year 1  
	

	Sales
	$120,000
	100.0%
	$90,000   
	100.0%
	$100,000
	100.0%

	Cost of goods sold
	(55,000)
	45.8  
	(47,000)
	52.2
	(48,000)
	48.0

	Operating expenses:
	
	
	
	
	
	

	
	Marketing expense
	(7,000)
	5.8   
	(7,000)
	7.8
	(6,000)
	6.0

	
	R&D expense
	(15,000)
	12.5
	(4,000)
	4.4
	(10,000)
	10.0

	
	Administrative expense
	  (20,000)
	       16.7
	 (22,000)
	  24.4
	  (

(20,000)
	  20.0

	Operating income
	23,000 
	19.2%
	10,000 
	11.1%
	16,000 
	16.0%

	Interest expense
	    (3,000)
	    2.5
	   (5,000)
	    5.6
	    (3,000)
	    3.0

	Income before income 
   taxes
	20,000 
	16.7%
	5,000 
	5.6%
	13,000 
	13.0%

	Income tax expense
	    (8,000)
	    6.7
	   (2,000)
	    2.2
	    (5,000)
	    5.0

	Net income
	$  12,000
	  10.0%
	$  3,000
	   3.3%
	 $    8,000
	    8.0%


PRACTICE 22–2
INTERPRETING A COMMON-SIZE INCOME STATEMENT

In Year 2, overall profitability declined for many reasons. Cost of goods sold, marketing expense, administrative expense, and interest expense all increased as a percentage of sales. A partial explanation for these increases could be that Company A has a large element of fixed costs in its cost structure. Thus, costs don’t decline very much when sales volume declines. The only two expenses to decline as a percentage of sales were R&D and income tax (because of lower income). The decline in R&D expense is symptomatic of a company that is trying to maintain profitability in the short run. Of course, if R&D dries up in the long run, the company will slowly lose its advantage in the market place.

Year 3 saw a reversal of all of the bad trends in Year 2. Cost of goods sold, marketing expense, administrative expense, and interest expense all decreased as a percentage of sales. R&D expense increased as a percentage of sales, perhaps to make up for the temporary decline in Year 2.

PRACTICE 22–3
PREPARING A COMMON-SIZE BALANCE SHEET

	
	
	  Year 3 
	
	  Year 2 
	
	  Year 1 
	

	Cash
	$  2,000
	1.7%
	$  2,000
	2.2%
	$  1,000
	1.0%

	Accounts receivable
	5,000
	4.2
	11,000
	12.2 
	5,000
	5.0

	Inventory
	  10,000
	  8.3
	  16,000
	17.8
	  10,000
	10.0

	Current assets
	$17,000
	14.2%
	$29,000
	32.2%
	$16,000
	16.0%

	Property, plant, and equipment (net)
	  50,000
	41.7
	  45,000
	50.0
	  40,000
	40.0

	Total assets
	$67,000
	55.8%
	$74,000
	82.2%
	$56,000
	56.0%


PRACTICE 22–4
INTERPRETING A COMMON-SIZE BALANCE SHEET

In Year 2, total assets were 82.2% of sales, compared to just 56.0% of sales in Year 1. This indicates a decrease in efficiency because more assets are needed for each 
dollar of sales. In Year 2, each asset was used less efficiently than it was in Year 1. Cash, accounts receivable, inventory, and net property, plant, and equipment all 
increased as a percentage of sales.

In Year 3, total assets were 55.8% of sales, compared to 82.2% of sales in Year 2 and 56.0% of sales in Year 1. This indicates a substantial increase in efficiency compared to Year 2 because fewer assets are needed for each dollar of sales. In Year 3, each asset was used more efficiently than it was in Year 2. Cash, accounts receivable, 
inventory, and net property, plant, and equipment all decreased as a percentage of sales.

PRACTICE 22–5
COMPUTING THE DUPONT FRAMEWORK RATIOS

	
	
	Year 3
	Year 2
	Year 1

	1.
	Return on equity
	36.4%
	11.5%
	33.3%

	2.
	Return on sales
	10.0%
	3.3%
	8.0%

	3.
	Asset turnover
	1.79 
	1.22
	1.79

	4.
	Assets-to-equity ratio
	2.03
	2.85
	2.33


PRACTICE 22–6
INTERPRETING THE DUPONT FRAMEWORK RATIOS

Return on equity in Year 1 was 33.3%, which is a very good ROE; good companies have ROEs consistently above 15%. The decrease in ROE to 11.5% in Year 2 was the result of a combination of lower profitability (return on sales decreased from 8.0% to 3.3%) and lower efficiency (asset turnover decreased from 1.79 to 1.22). This was 
partially counterbalanced by an increase in leverage in Year 2; the assets-to-equity ratio increased from 2.33 to 2.85.

In Year 3, both profitability and efficiency increased, resulting in a ROE of 36.4% compared to 11.5% in Year 2. The ROE in Year 3 is similar to the ROE in Year 1, 
although the composition is somewhat different. In Year 3, profitability is higher than in Year 1 (10.0% compared to 8.0%). This is partially offset by lower leverage in Year 3 (2.03 assets to equity compared to 2.33 in Year 1).

PRACTICE 22–7
ACCOUNTS RECEIVABLE RATIOS

	
	
	Year 3
	Year 2

	1.
	Accounts receivable turnover
	15.0
	11.3

	2.
	Average collection period
	24.3
	32.4


PRACTICE 22–8
INVENTORY RATIOS

	
	
	Year 3
	Year 2

	1.
	Inventory turnover
	4.2
	3.6

	2.
	Number of days’ sales in inventory
	86.3
	101.0


PRACTICE 22–9
FIXED ASSET TURNOVER

	
	
	Year 3
	Year 2

	
	Fixed asset turnover
	2.53
	2.12


PRACTICE 22–10
MARGIN AND TURNOVER

Return on equity = Return on sales ( Asset turnover ( Assets-to-equity ratio

Company A: 10.0% ( 1.79 ( 2.03 = 36.3% (rounded)

Company B: 6.9% ( 2.59 ( 2.03 = 36.3%

Company C: 20.1% ( 0.89 ( 2.03 = 36.3%

The ROE for each company is the same at 36.3%. And each company is also the same on the leverage dimension with an assets-to-equity ratio of 2.03. But each company is very different in terms of its pairing of margin and turnover (return on sales and asset turnover). Company C has very high margins (20.1%) but low turnover (0.89). Company B is at the other extreme with low margins (6.9%) and high turnover (2.59). Company A is in the middle. This exercise illustrates that many 
companies can attain the same overall ROE with vastly different business 
approaches in terms of margin and turnover.

PRACTICE 22–11
DEBT RATIO AND DEBT-TO-EQUITY RATIO

	
	
	Year 3
	Year 2
	Year 1

	1.
	Debt ratio
	50.7%
	64.9%
	57.1%

	2.
	Debt-to-equity ratio
	1.03
	1.85
	1.33


PRACTICE 22–12
TIMES INTEREST EARNED

	
	
	Year 3
	Year 2
	Year 1

	
	Times interest earned
	7.67
	2.00
	5.33


PRACTICE 22–13
CURRENT RATIO

	
	
	Year 3
	Year 2
	Year 1

	
	Current ratio
	1.21
	1.26
	1.33


PRACTICE 22–14
CASH FLOW ADEQUACY RATIO

Operating activities:


Net income

$
780


Depreciation

300


Increase in accounts receivable

(150)


Decrease in inventory

75


Increase in accounts payable


100
Cash flow from operating activities


$
1,105

Investing activities:


Cash used to purchase property, plant, and equipment


$
(400)

Financing activities:


Cash from issuance of additional shares of stock

$
1,000


Cash used to repay long-term loans

(600)


Cash dividends paid

   (200)

Cash flow from financing activities


$
200

Cash flow from operating activities


$
1,105

Total primary cash requirements ($400 + $600 + $200)


÷
$1,200
Cash flow adequacy ratio



0.92
PRACTICE 22–15
EARNINGS PER SHARE AND DIVIDEND PAYOUT RATIO

1.



Company S
Company T

Net income

$
1,000
$
15,000


Weighted shares outstanding

÷
200
÷
10,000

Earnings per share

$
5.00
$
1.50

2.



Company S
Company T

Dividends

$
50
$
6,000


Net income

÷
$1,000
÷
$15,000

Dividend payout ratio


5.0%

40.0%
Company T is more likely to be an older company in a low-growth industry. Mature companies typically pay a higher proportion of their net income as dividends. The 40% dividend payout ratio for Company T is typical of older, more mature companies in the United States. High-growth companies usually have lower dividend payout 
ratios, often 0%.

PRACTICE 22–16
PRICE-EARNINGS RATIO AND BOOK-TO-MARKET RATIO

1.
Company M
Company N

Net income

$
1,000
$
20,000


Weighted shares outstanding

÷
200
÷ 
40,000

Earnings per share

$
5.00
$ 
0.50

Stock price per share

$
25.00
$
20.00


Earnings per share

÷
$5.00
÷
$0.50

Price-earnings ratio


5.0

40.0
2.
Company M
Company N

Stock price per share

$
25.00
$
20.00


Weighted shares outstanding

(
200
(
40,000


Total market value of equity

$
5,000
$
800,000

Total stockholders’ equity

$
6,000
$
100,000


Total market value of equity

÷
$5,000
÷
$800,000

Book-to-market ratio


1.200

0.125
Company N is more likely to be in a high-growth industry. High P/E ratios and low book-to-market ratios are indicative of a company that is expected to grow significantly in the future.

PRACTICE 22–17
20-F NET INCOME RECONCILIATION

Net income, computed according to home country GAAP

$10,000

Research and development (no expense this year, all last year)

16,000

Capitalized interest ($4,700 for this year)

    4,700

Net income, computed according to U.S. GAAP

$30,700
PRACTICE 22–18
20-F EQUITY RECONCILIATION

Stockholders’ equity, computed according to home country GAAP

$
100,000

Research and development (cumulative U.S. expense, $80,000;


cumulative local expense, $32,000 = 2 years ( $16,000)


(48,000)

Capitalized interest ($2,000 + $4,700)


6,700
Stockholders’ equity, computed according to U.S. GAAP

$
58,700
PRACTICE 22–19
FOREIGN CURRENCY TRANSLATION

1.
4 crowns to each U.S. dollar



(in U.S. dollars)


Cash

$
500


Accounts receivable


1,000


Inventory


1,500


Land


2,000


Total assets

$
5,000

Loan payable (8,000/4)

$
2,000


Paid-in capital (12,000/2)


6,000


Translation adjustment


 (3,000)



Total liabilities and equity

$
5,000

U.S. Multi Company suffered an economic loss because the value of the crown 
declined during the year.

2.
1 crown to each U.S. dollar



(in U.S. dollars)


Cash

$
2,000


Accounts receivable


4,000


Inventory


6,000


Land


8,000


Total assets

$
20,000

Loan payable (8,000/1)

$
8,000


Paid-in capital (12,000/2)


6,000


Translation adjustment


6,000


Total liabilities and equity

$
20,000

U.S. Multi Company experienced an economic gain because the value of the crown increased during the year.

PRACTICE 22–20
FOREIGN CURRENCY TRANSLATION

Translated trial balance 




Translation



(in crowns)
Rate
(in U.S. dollars)


Cash
3,000
4.0
$     750


Accounts Receivable
6,000
4.0
1,500


Inventory
11,000
4.0
2,750


Land
8,000
4.0
2,000


Expenses
90,000
3.0
30,000


Dividends
2,000
3.5
571


Translation Adjustment




    3,762

Total Debits
120,000

$41,333


Loan Payable
8,000
4.0
$  2,000


Paid in Capital
12,000
2.0
6,000


Sales
100,000
3.0
  33,333

Total Credits
120,000

$41,333

U.S. Multi Company suffered an economic loss because the value of the crown 
declined during the year. This is reflected in the debit amount (subtraction from 
equity) in Translation Adjustment.

Income Statement


Sales

$33,333


Expenses


30,000


Net Income

$
3,333

Balance Sheet


Cash

$
750


Accounts Receivable


1,500


Inventory


2,750


Land


2,000


Total Assets

$
7,000

Loan Payable

$
2,000


Paid-In Capital


6,000


Retained Earnings ($3,333 – $571)


2,762


Translation Adjustment


(3,762)



Total Liabilities and Equity

$
7,000

EXERCISES

22–21.

1.

2008


%



2007


%



Sales

$
800,000
100.0
$
450,000
100.0


Cost of goods sold


510,000
  63.8

240,000
  53.3


Gross profit

$
290,000
36.2
$
210,000
46.7


Selling and general expenses


80,000
  10.0

60,000
  13.3

Operating income

$
210,000
26.3
$
150,000
33.3


Interest expense


40,000
    5.0

30,000
    6.6

Income before income taxes

$
170,000
21.3
$
120,000
26.7


Income taxes


51,000
    6.4

36,000
    8.0

Net income

$
119,000
  14.9
$
84,000
   18.7

2.
Return on sales for Long Pond in 2008 is 14.9% compared to 18.7% in 2007. The cause of the decrease in the return on sales is that cost of goods sold as a percentage of sales is much higher in 2008 (63.8%) compared to 2007 (53.3%). This increase is partially offset by lower selling and general expenses, lower interest expense, and lower income taxes in 2008.

22–22.

1.

2008


%



2007


%


Cash

$
43,000
3.6
$
22,000
2.2


Accounts receivables (net)


31,000
2.6

42,000
4.2


Inventories


71,000
5.9

33,000
3.3


Property, plant, and 


equipment (net)


106,000
 8.8

59,000
  5.9

Total assets

$
251,000
20.9
$
156,000
15.6


Sales

$
1,200,000

$
1,000,000
2.
Total assets as a percentage of sales for Gubler in 2008 are 20.9% compared to 15.6% in 2007. This means that Gubler needed more assets in place in 2008 to generate $1 of sales than in 2007. Both inventories and property, plant, and equipment increased substantially as a percentage of sales in 2008.
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Return on equity = Net income/Stockholders’ equity


= (Net income/Sales) ( (Sales/Total assets)


( (Total assets/Stockholders’ equity)


= Return on sales ( Asset turnover ( Assets-to-equity ratio


Return


Assets-
Return


on
Asset

to-Equity
on


Sales
Turnover
Ratio
Equity


Retail jewelry stores

4.0%
1.529
1.578
9.7%


Retail grocery stores

1.4

5.556
1.832
14.3


Electric service companies

6.9

0.498
2.592
8.9


Legal services firms

7.3

3.534
1.708
44.1
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2008


2007


Sales

$
140,000
$
105,000

Net receivables:


Beginning of year

$
25,000
$
10,000


End of year

$
30,000
$
25,000

Average receivables [(beginning


balance + ending balance)/2]

$
27,500
$
17,500

a.
Accounts receivable turnover

5.09 times
6.00 times



2008


2007


Average receivables

$
27,500
$
17,500
Sales

$
140,000
$
105,000

Average daily sales (sales/365)

$
384
$
288

b.
Average collection period

71.6 days
60.8 days


2008


2007

Sales

$
140,000
$
105,000
Property, plant, and equipment:


Beginning of year

$
80,000
$
89,000


End of year

$
105,000
$
80,000

Average fixed assets [(beginning


balance + ending balance)/2]

$
92,500
$
84,500


Fixed asset turnover

1.51 times
1.24 times
22–25.

2008


2007


2006


Gross profit percentage*

28%
25%
13%

Inventory turnover—average inventory†

2.4
2.7
4.3

Number of days’ sales in average inventory‡

152 days
135 days
85 days

Inventory turnover—ending inventory§

2.0
2.5
2.6

Number of days’ sales in ending inventory#

183 days
146 days
140 days

COMPUTATIONS:

*Gross profit/Sales:

2006: $10,000/$75,000 = 0.13

2007: $25,000/$100,000 = 0.25

2008: $35,000/$125,000 = 0.28

†Cost of goods sold/Average inventory:

2006: $65,000/[($5,000 + $25,000)/2] = 4.3

2007: $75,000/[($25,000 + $30,000)/2] = 2.7

2008: $90,000/[($30,000 + $45,000)/2] = 2.4

‡365 days/Inventory turnover rate (average inventory):

2006: 365/4.3 = 85 days (rounded)

2007: 365/2.7 = 135 days

2008: 365/2.4 = 152 days

§Cost of goods sold/Ending inventory:

2006: $65,000/$25,000 = 2.6

2007: $75,000/$30,000 = 2.5

2008: $90,000/$45,000 = 2.0

#365 days/Inventory turnover rate (ending inventory):

2006: 365/2.6 = 140 days (rounded)

2007: 365/2.5 = 146 days

2008: 365/2.0 = 183 days

With the increased sales volume, the gross profit percentage has increased and the inventories also have increased, both relatively and in absolute amount. The increase in inventories is reflected in the inventory turnover rate and the increased number of days’ sales in average inventory. This inventory condition may result in higher expenses for handling and carrying the inventory and a greater vulnerability to losses in the case of a decline in sales volume or prices. It may be noted that the unfavorable trend resulting from increasing inventories is not fully manifested by use of average inventories. By using ending inventory figures, the unfavorable trend becomes even more apparent.
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Results of Operations






If

If





Borrowed
Borrowed


Without
Capital
Capital


Borrowed
Earns
Earns 



Capital


16%


9%



Initial operating income

$
310,000
$
310,000
$
310,000


Operating income on $900,000 


borrowed


0

144,000

81,000


Interest expense ($900,000 ( 0.11)


0

(99,000)

(99,000)


Income before income taxes

$  310,000 
$ 355,000
$
292,000


Income taxes (40%)


(124,000)

(142,000)

(116,800)


Net income

$
186,000
$
213,000
$
175,200

Average stockholders’ equity

$
860,000
$
860,000
$
860,000


Return on average stockholders’ equity


21.63%

24.77%


20.37%


Return on equity is increased by borrowing whenever the return on the       acquired assets is greater than the interest on the borrowed funds.
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Company A is the discount store because it has the greater asset turnover.


Company B is the gift shop because it has the greater return on sales.

22–28.
1.
Return on equity:



2008


2007


2006

Common stock, $1 par

$
250,000
$
220,000
$
220,000

Additional paid-in capital


2,000,000

1,430,000

1,430,000

Retained earnings


200,000

150,000

100,000

Total equity

$
2,450,000
$
1,800,000
$
1,750,000




[image: image10.wmf]Net income

Total equi

ty




[image: image11.wmf]$2,450,000

$190,000



[image: image12.wmf]$1,800,000

$110,000



[image: image13.wmf]$1,750,000

$90,000




Return on equity

7.8%
6.1%
5.1%


2.
Times interest earned:



2008


2007


2006

8% bonds payable

$
800,000
$
800,000
$
800,000
Interest expense (0.08)

$
64,000
$
64,000
$
64,000
Net income

$
190,000
$
110,000
$
90,000

Add back interest expense


64,000

64,000

64,000
Earnings before interest

$
254,000
$
174,000
$
154,000
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Times interest earned

4.0 times
2.7 times
2.4 times


3.
Earnings per share:



2008


2007


2006
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Earnings per share

$0.76
$0.50

$0.41


4.
Dividend payout ratio:



2008


2007


2006
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Dividend payout ratio

47.4%
54.5%
44.4%


5.
Price-earnings ratio:



2008


2007


2006
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Price-earnings ratio

28.9
50.0

29.3

22–28.
(Concluded)


6.
Book-to-market ratio:



2008


2007


2006



Year-end stock price per share

$

22
$
25
$
12



Number of $1 par shares

( 
250,000
( 
220,000
( 
220,000


Total market value

$
5,500,000

$5,500,000
$
2,640,000
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Book-to-market ratio

0.45
0.33
0.66

22–29.


Financing Alternative
Current Ratio
Debt-to-Equity Ratio


a. Operating lease
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b. Equity
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c. Long-term loan
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*$150,000 + $325,000 – $60,000 – $140,000 = $275,000


The operating lease (a) and the equity financing (b) alternatives satisfy both of the loan covenants.

22–30.

1.
Current ratio =
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 = Current liabilities = $92,000



Current liabilities = Accounts payable + Income taxes payable



$92,000 = Accounts payable + $25,000



Accounts payable = $67,000

22–30.
(Concluded)

2.

[image: image47.wmf]Total liab
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Total liabilities = 0.8 (Total stockholders’ equity)


Total liabilities + Total stockholders’ equity = Total assets


0.8 (Total stockholders’ equity) + Total stockholders’ equity = $432,000


1.8 (Total stockholders’ equity) = $432,000


Total stockholders’ equity = $240,000


Total stockholders’ equity = Common stock + Retained earnings


$240,000 = $300,000 + Retained earnings


Retained earnings = $(60,000)

3.
Inventory turnover based on sales and ending inventory =
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Ending inventory = $70,000

22–31.

For such a special report to be useful for non-U.S. stockholders, Lyle should do the following:

· Prepare the report in the language of the non-U.S. stockholders.

· Prepare the report in the local currency of the non-U.S. stockholders.

· Restate the financial statements using the accounting standards of the users’ country, or at least restate those parts of the statements that are relevant for a decision maker.

22–32.

The probable cause of this difference in rankings is the difference in GAAP. The 
accounting standards in some countries, such as Germany and Japan, are more conservative than are the standards in the United States. This means that these standards result in systematically lower reported earnings than would be computed using U.S. GAAP. For example, the chapter included a discussion of “hidden 
reserves” in Germany. By establishing hidden reserves, companies can reduce 
profits in a given year. In later years, when these reserves are released or reduced, profits increase. In a sense, reserves smooth earnings and allow buildup of 
unreported profits that can be used in “down” years.

22–33.

1.

MEBA Company


Reconciliation of Stockholders’ Equity to U.S. GAAP

Stockholders’ equity, computed according to home country GAAP
$100,000

Adjustments required to conform with U.S. GAAP:


Goodwill, adjusted for impairment


($80,000 – $30,000)
  
50,000


Unrealized gain on available-for-sale securities


($4,700 – $3,000)


1,700
Stockholders’ equity in accordance with U.S. GAAP

$151,700
2.

MEBA Company


Reconciliation of Net Income to U.S. GAAP

Net income, computed according to home country GAAP

$ 12,000

Adjustments required to conform with U.S. GAAP:


Goodwill impairment loss

  (30,000)

Net income in accordance with U.S. GAAP

$(18,000)

22–34.

1.

Chaux Blanc Company


Reconciliation of Stockholders’ Equity to U.S. GAAP

Stockholders’ equity, computed according to home country GAAP
$
3,500,000

Adjustments required to conform with U.S. GAAP:


Brand names


(1,300,000)


Postretirement obligation


(1,100,000)


Development costs


 (600,000)

Stockholders’ equity in accordance with U.S. GAAP

$
500,000
[Note: The adjustments for the postretirement obligation and development costs both reflect the fact that these amounts would have been expensed (reducing the 
Retained Earnings portion of stockholders’ equity) under U.S. GAAP.]

2.

Chaux Blanc Company


Reconciliation of Net Income to U.S. GAAP

Net income, computed according to home country GAAP

$
800,000

Adjustments required to conform with U.S. GAAP:


Development costs


(600,000)


Postretirement medical care expense

  
(360,000)

Net income (loss) in accordance with U.S. GAAP

$
(160,000)
22–35.
International Metals


Translated Balance Sheet



January 3, 2008


(In

(In


Canadian
Exchange
U.S.



dollars)


Rate


dollars)





Assets


Cash

$
58,000

$0.79
$
45,820


Accounts receivable


112,500

0.79

88,875


Inventory



91,800

0.79

72,522


Plant assets


145,400

0.79

114,866

Total assets

$
407,700


$
322,083





Liabilities and Equity


Accounts payable

$
165,600

$0.79
$
130,824


Long-term debt


98,000

0.79

77,420


Capital stock


65,100

0.79

51,429


Retained earnings


79,000

0.79

62,410


Total liabilities and equity

$
407,700


$
322,083

Note that there is no translation adjustment because the translated balance sheet is prepared on the acquisition date. A translation adjustment arises from exchange rate changes after the acquisition date.

22–36.
1.


International Data Products





Trial Balance






Trial Balance
Exchange
Trial Balance


(In Japanese yen)


Rate

(In U.S. dollars)

Cash

¥
6,000,000
$
0.007

$
42,000

Accounts Receivable


18,500,000

0.007


129,500

Inventory

21,250,000
0.007


148,750

Equipment

27,700,000
0.007


193,900

Cost of Goods Sold

36,000,000
0.0065


234,000

Expenses

15,500,000
0.0065


100,750

Dividends


5,000,000
0.0067


33,500


Total debits

¥
129,950,000



$
882,400
Accounts Payable

¥
24,000,000
$
0.007

$
168,000

Long-Term Debt


12,000,000

0.007


84,000

Capital Stock


20,000,000

0.0055


110,000

Retained Earnings


15,950,000
computed

105,000

Sales


58,000,000

0.0065


377,000

Translation Adjustment







38,400

Total credits

¥
129,950,000



$
882,400
22–36.
(Concluded)

2.



International Data Products





Income and Retained Earnings Statement


Sales

$
377,000

Cost of goods sold


234,000
Gross margin

$
143,000

Other expenses


100,750
Net income

$
42,250

Beginning retained earnings


105,000


$
147,250

Less: Dividends


  33,500
Ending retained earnings

$
113,750




International Data Products





Balance Sheet








Assets

Cash

$
42,000

Accounts receivable


129,500

lnventory


148,750

Equipment


193,900
Total assets

$
514,150


Liabilities and Equity

Accounts payable

$168,000

Long-term debt


84,000

Capital stock


110,000

Retained earnings


113,750

Translation adjustment


38,400

Total liabilities and equity

$514,150

PROBLEMS

22–37.

1.
Simple Strategies Company


Common-Size Income Statements


For the Year Ended December 31






2008



2007



 Amount 

Percent


Amount

Percent

Net sales

$
510,000
100%

$
480,000
100%


Cost of goods sold


370,000
   73


  250,000
 
52

Gross profit

$
140,000
27%


$230,000
48%


Selling and general expenses


80,000
 16


100,000
 
21

Operating income

$
60,000
12%
$
130,000

27%


Other expenses


70,000
 14


60,000
 13

Income (loss) before income


taxes

$
(10,000)
(2)%

$
70,000
15%


Income taxes (refund)



(4,000)

(1)


28,000
   6

Net income (loss)

$
(6,000)
 
(1)%
$
42,000
   
9%


Differences due to rounding.

2.
Simple Strategies Company is having a severe problem with its cost of goods sold. The decrease in gross profit percentage from 48% to 27% is a significant drop. If Simple Strategies is a manufacturing company, there may be excess spoilage or quality problems in production. As a result of the cost problem, 
Simple Strategies experienced a net loss in 2008 as opposed to a significant net income in 2007. A detailed examination of cost of goods sold is necessary to complete this evaluation.

22–38.

1.

Stay-Trim Company and Tone-Up Company


Common-Size Balance Sheet


December 31, 2008



Stay-Trim
Tone-Up


Company
Company

Assets

Current assets

44%
20%

Long-term investments

4
23

Land, buildings, and equipment (net)

42
43

Intangible assets

6*
9*

Other assets

    4
    5

Total assets

100%
100%


Liabilities and Stockholders’ Equity

Current liabilities

13%
15%

Long-term liabilities

22
25

Deferred revenues

    4
    6
Total liabilities

  39%
  46%

Preferred stock

4%
8%

Common stock

26
17

Additional paid-in capital

22
15

Retained earnings

    9
  14
Total stockholders’ equity

  61%
  54%

Total liabilities and stockholders’ equity

100%
100%

*Rounded up to achieve 100%.

2.
Stay-Trim Company is financed by more equity than is Tone-Up Company. Stay-Trim has a much higher percentage of its assets in the form of current assets. Further investigation is necessary. Although the breakdown of current assets is not given, added information may show that Stay-Trim’s current assets are primarily obsolete inventories, whereas Tone-Up’s current assets may consist mainly of cash. Also, differences in inventory valuation methods could change the results.

22–39.

1.
a.
Return on sales = Net income/Net sales


Company A


Company B


Company C
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b.
Asset turnover = Net sales/Total assets
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c.
Assets-to-equity ratio = Total assets/Total equity
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d.
Return on assets
= Net income/Total assets, or


= Return on sales ( Asset turnover
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e.
Return on equity = Net income/Total equity
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2.
The large utility is company A. (The large investment in assets, the low asset turnover, and high return on sales suggest company A is the utility.)


The large grocery store is assumed to be company C. (Company C has a low return on sales and a high asset turnover.)

Therefore, the large department store is company B.

22–40.



2008


2007

1.
Accounts receivable turnover:

Net sales

$420,000
$380,000

Net receivables:

Beginning of year

$55,000
$40,000

End of year

$70,000
$55,000

Average receivables

$62,500
$47,500

Accounts receivable turnover

6.72
8.00

22–40.
(Concluded)

2.
Average collection period:

Receivables at end of year

$70,000
$55,000

Net sales

$420,000
$380,000

Average daily sales (net sales/365)

$1,151
$1,041

Average collection period

60.8
52.8

3.
Inventory turnover:

Cost of goods sold

$230,000
$205,000

Inventory:

Beginning of year

$110,000
$90,000

End of year

$140,000
$110,000

Average inventory

$125,000
$100,000

Inventory turnover

1.84
2.05

4.


2008


2007


Number of days’ sales in inventory:

Inventory at end of year

$140,000
$110,000

Average daily cost of goods sold (365-day year)

$630
$562

Number of days’ sales in inventory

222.2
195.7

22–41.




2008


2007

1.
a.
Finished goods turnover:

Cost of goods sold

$225,000
$230,000

Average finished goods inventory:

Beginning of year

$40,000
$30,000

End of year

$60,000
$40,000

Average

$50,000
$35,000

Finished goods turnover

4.5 times
6.6 times


b.
Goods in process turnover:

Cost of goods manufactured

$260,000
$250,000

Average goods in process inventory:

Beginning of year

$65,000
$60,000

End of year

$60,000
$65,000

Average

$62,500
$62,500

Goods in process turnover

4.2 times
4.0 times


c.
Raw materials turnover:

Cost of materials used in production

$150,000
$130,000

Average raw materials inventory:

Beginning of year

$40,000
$35,000

End of year

$60,000
$40,000

Average

$50,000
$37,500

Raw materials turnover

3.0 times
3.5 times

22–41.
(Concluded)

2.
The inventory turnovers are not all moving in the same direction. Both the finished goods inventory and the raw materials inventory turnovers are decreasing, whereas the goods in process inventory turnover increased slightly. The greatest concern is with the finished goods inventory. In 2 years, this inventory has doubled ($30,000 to $60,000) while the cost of goods sold actually decreased slightly in 2008. This may indicate an obsolescence problem. The matter should be investigated. The raw materials inventory also has increased in absolute amount, but more raw materials are being used in production, so the decrease in inventory turnover for raw materials is not as significant as it is for finished goods. Overall, there seems to be a problem in inventory control that should be resolved.

22–42.

1.
a.
Return on equity:



2008


2007


2006



No-par common, $10 stated value

$
500,000
$
400,000
$
400,000



Additional paid-in capital


510,000

400,000

400,000



Retained earnings


196,000

171,000

190,000
Total equity

$
1,206,000
$
971,000
$
990,000
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Return on equity
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13.5%
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b.
Return on sales:



2008


2007


2006
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c.
Asset turnover:



2008


2007


2006
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d.
Assets-to-equity ratio:



2008


2007


2006
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22–42.
(Continued)


e.
Return on assets:



2008


2007


2006
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Return on assets


10.6%

8.7%
13.4%


f.
Current ratio:



2008


2007


2006



Cash

$
50,000
$
40,000
$
75,000



Accounts receivable (net)


300,000

320,000

250,000



Inventory


380,000

420,000

350,000



Prepaid expenses


30,000

10,000

40,000


Total current assets

$
760,000
$
790,000
$
715,000


Accounts payable

$
120,000
$
185,000
$
220,000



Wages, interest, and dividends payable


25,000

25,000

25,000



Income tax payable


29,000

5,000

30,000



Miscellaneous current liabilities


10,000

4,000

10,000


Total current liabilities

$
184,000
$
219,000
$
285,000
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g.
Dividend payout ratio:



2008


2007


2006
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22–42.
(Concluded)

2.
Return on equity improved in 2008 compared to 2007 (14.9% vs. 13.5%), but both of these values are still well below ROE in 2006 (21.0%). The reasons for the increase in 2008 are an increase in profitability (return on sales is up to 12.9% from 11.9% in 2007) and efficiency (asset turnover of 0.82 vs. 0.73). Both of these factors combine to result in a significant increase in return on assets in 2008 compared to 2007 (10.6% vs. 8.7%).


Current ratio is very high in 2008 (4.13), even higher than in 2007 (3.61). To short-term creditors, this high current ratio means that Sunshine is almost certain to be able to pay its debts in the short run. However, for investors, this high current ratio may be bad news because it could indicate that Sunshine is not being efficient at managing its current assets. Along the same lines, the assets-to-equity ratio is lower in 2008, indicating that Sunshine is borrowing less relative to the level of stockholder investment. Sunshine may be able to increase ROE by more aggressive leveraging of stockholders’ equity.


Dividend payout ratio in 2007 exceeded 100%. It looks like this was an attempt to keep dividends up even when net income had declined drastically from 2006. The level of dividends in 2008 is about the same as in 2007. Overall, Sunshine’s dividend payout ratio is quite high; this is a sign that the company is older and without many growth opportunities.


Overall, the ratios in 2008 show an improvement over 2007 but have still not recovered to the 2006 levels.

22–43.


a.
Accounts receivable turnover:



2008


2007


2006



Net sales

$
1,400,000
$
1,100,000
$
1,220,000

Net receivables:




Beginning of year


$320,000

$250,000

$250,000




End of year


$300,000

$320,000

$250,000



Average receivables [(beginning



balance + ending balance)/2]


$310,000

$285,000

$250,000



Accounts receivable turnover

4.52 times
3.86 times
4.88 times


b.
Average collection period:



2008


2007


2006




Average receivables


$310,000

$285,000

$250,000



Net sales


$1,400,000

$1,100,000

$1,220,000



Average daily sales (sales/365)


$3,836

$3,014

$3,342



Average collection period

80.8 days
94.6 days
74.8 days

22–43.
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c.
Inventory turnover:



2008


2007


2006



Cost of goods sold


$760,000

$600,000

$610,000

Inventory:




Beginning of year


$420,000

$350,000

$350,000




End of year


$380,000

$420,000

$350,000



Average inventory [(beginning



balance + ending balance)/2]


$400,000

$385,000

$350,000



Inventory turnover

1.90 times
1.56 times
1.74 times


d.
Number of days’ sales in inventory:



2008


2007


2006



Average inventory


$400,000

$385,000

$350,000



Cost of goods sold (COGS)


$760,000

$600,000

$610,000



Average daily COGS (COGS/365)


$2,082

$1,644

$1,671



Number of days’ sales in inventory

192.1 days
234.2 days
209.5 days


e.
Fixed asset turnover:



2008


2007


2006



Net sales

$1,400,000
$1,100,000
$1,220,000

Land, buildings, and equipment:

Beginning of year

$600,000
$690,000
$690,000

End of year

$760,000
$600,000
$690,000

Average fixed assets [(beginning

balance + ending balance)/2]

$680,000
$645,000
$690,000



Fixed asset turnover

2.06 times
1.71 times
1.77 times

f.
Debt ratio:



2008


2007


2006



Total assets

$
1,700,000
$
1,500,000
$
1,550,000



Less: Total equity [see 22–42(a)]


1,206,000

971,000

990,000
Total liabilities

$
494,000
$
529,000
$
560,000




[image: image103.wmf]Total liab

ilities

Total asse

ts




[image: image104.wmf]$494,000

$1,700,000



[image: image105.wmf]$529,000

$1,500,000
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Debt ratio


29.1%

35.3%
36.1%

g.
Debt-to-equity ratio:



2008


2007


2006
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Debt-to-equity ratio

0.41

0.54
0.57

22–43.
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h.
Times interest earned:



2008


2007


2006



8% bonds payable

$
300,000
$
300,000
$
250,000



Interest expense (0.08)

$
24,000
$
24,000
$
20,000



Income before taxes

$
300,000
$
220,000
$
360,000



Add back interest expense


24,000

24,000

20,000


Earnings before interest and taxes

$
324,000
$
244,000
$
380,000
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Times interest earned

13.5 times
10.2 times
19.0 times


i.
Earnings per share:



2008


2007


2006
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Earnings per share

$3.60
$3.28
$5.20


j.
Price-earnings ratio:



2008


2007


2006
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Price-earnings ratio

9.7
7.6
9.6


k.
Book-to-market ratio:



2008


2007


2006



Year-end stock price per share

$
35
$
25
$
50



Number of $10 stated value shares


( 50,000

( 40,000

( 40,000


Total market value

$
1,750,000
$
1,000,000
$
2,000,000
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Book-to-market ratio

0.69
0.97
0.50

22–43.
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2.
In terms of efficient use of assets, 2008 is better in all dimensions than 2007. 
Accounts receivable turnover is higher, inventory turnover is higher, and fixed asset turnover is higher. In summary, 2008 marks a large improvement in asset efficiency.


In all 3 years, Sunshine has a low level of debt. This is shown in both the debt 
ratio (only 29.1% in 2008) and in the times interest earned (13.5 times in 2008). It seems apparent that Sunshine has the capacity to borrow more to expand operations—if there are profitable opportunities available.


Both the P/E ratio and the book-to-market ratio indicate that Sunshine’s stock price was depressed in 2007. Both in absolute terms and relative to earnings and book equity, the stock price is up significantly in 2008. This suggests improved investor confidence about Sunshine’s future prospects.

22–44.

1.
Adjustments:

a.
Using FIFO:

Ending inventory increases by $25,200 ($57,200 – $32,000).

Net income for 2008 increases by $7,200 [($32,000 – $23,000) – ($57,200 – $41,000)].

Beginning retained earnings increases by $18,000 ($41,000 – $23,000).

b.
7-year useful life:

Book value at December 31, 2008:

7-year life: $140,000 – [($140,000/7) ( 4 years] = $60,000

5-year life: $140,000 – [($140,000/5) ( 4 years] = $28,000

Book value decreases by $32,000 ($60,000 – $28,000).

Net income for 2008 decreases by $8,000 [($140,000/5) – ($140,000/7)].

Beginning retained earnings decreases by $24,000 [($140,000/5) ( 3 years] 

– [($140,000/7) ( 3 years].

c.
Environmental cleanup obligation:

Net income for 2008 increases by $21,600 [$24,000 – ($24,000 ( 0.10)].

Environmental cleanup obligation decreases by $21,600.

Adjusted current ratio: ($62,000 + $25,200)/$41,000 = 2.13
Adjusted debt-to-equity ratio:

($103,000 – $21,600)/($115,000 + $7,200 + $18,000 – $8,000 – $24,000 +

$21,600) = 0.63
Adjusted return on sales: ($53,000 + $7,200 – $8,000 + $21,600)/$550,000 = 13.4%
Note that the adjustments have changed each of the ratios significantly.

22–44.
(Concluded)

2.
This problem illustrates one danger in comparing a company’s financial ratios with summary industry ratios: This kind of comparison ignores any accounting differences. The industry ratios are composites from firms that could have used a variety of accounting methods. If, for example, half the firms in an industry use FIFO and half use LIFO, comparing the average industry current ratio to the current ratio of one of the firms that uses FIFO can be misleading.

22–45.

1.

HKUST Company


Reconciliation of Stockholders’ Equity to U.S. GAAP

Stockholders’ equity computed according to home country GAAP

$
146,000

Adjustments required to conform with U.S. GAAP:


Deferred income taxes included in stockholders’ equity


  (25,000)


Unrealized gain on trading securities ($4,700 – $3,000)


1,700


Interest on the financing of self-constructed assets


5,000
Stockholders’ equity in accordance with U.S. GAAP

$
127,700
[Note: The adjustments for the interest on the financing of self-constructed assets reflect the fact that this amount would not have been expensed (not reducing the Retained Earnings portion of stockholders’ equity) under U.S. GAAP. Similarly, the unrealized gain on trading securities would have increased net income, also increasing Retained Earnings.]

2.

HKUST Company


Reconciliation of Net Income to U.S. GAAP

Net income, computed according to home country GAAP

$33,000

Adjustments required to conform with U.S. GAAP:


Deferred income tax expense


(4,100)


Unrealized gain on trading securities ($4,700 – $3,000)


1,700


Interest on the financing of self-constructed assets

 
5,000
Net income in accordance with U.S. GAAP


$35,600

22–45.
(Concluded)

3.

Home Country GAAP
U.S. GAAP
Net income

$33,000
$35,600

Stockholders’ equity

$146,000
$127,700

Return on equity

22.6%
27.9%

In this case, ROE is higher for HKUST using U.S. GAAP. Similarly, in many cases the reconciliation to U.S. GAAP will result in lower reported ROE. A company might not wish to reconcile its reported numbers to U.S. GAAP, even when doing so would 
result in higher ROE because the reconciliation might require disclosure of information that the company would rather not disclose. In addition, the reconciliation 
process requires some effort by the accounting staff and so is not cost-free.

22–46.

1.
Loco Loco Company


Reconciliation of Stockholders’ Equity to U.S. GAAP

Stockholders’ equity, computed according to home country GAAP

$5,200,000

Adjustments required to conform with U.S. GAAP:


Goodwill, adjusted for impairment


($1,200,000 – $290,000)
  
910,000


Possible obligation for severance benefits

  1,700,000
Stockholders’ equity in accordance with U.S. GAAP

$7,810,000
(Note: The adjustment for the possible obligation for severance benefits reflects the fact that this amount would not have been expensed under U.S. GAAP, resulting in higher net income and an increase to the Retained Earnings portion of stockholders’ equity.)

2.

Loco Loco Company


Reconciliation of Net Income to U.S. GAAP

Net income, computed according to home country GAAP

$   650,000

Adjustments required to conform with U.S. GAAP:


Possible obligation for severance benefits

1,700,000


Goodwill impairment loss
 

(290,000)

Net income in accordance with U.S. GAAP

$2,060,000
3.
It appears that Loco Loco chose to recognize the obligation for possible future severance benefits this year rather than waiting to recognize the obligation in a future year in order to “smooth” its reported income. If Loco Loco had waited until next year to recognize the obligation for severance benefits, a large increase in income this year (from the unusual gain) would have been followed by a large decrease next year. Investors prefer a steadily increasing earnings stream, not one that wildly fluctuates from one year to the next.

22–47.

Doghead Technology

Trial Balance

December 31, 2008


Trial Balance



Trial Balance


Dec. 31, 2008

Dec. 31, 2008


(In Swiss
Exchange
(In U.S.



francs)



Rate


dollars)


Cash

925,000
$0.228
$
210,900

Accounts Receivable

1,875,000
0.228

427,500

Inventory

2,115,000
0.228

482,220

Equipment

1,025,000
0.228

233,700

Cost of Goods Sold

7,985,000
0.210
1,676,850

Expenses

4,234,000
0.210

889,140

Dividends

     900,000
0.205

184,500
Total debits

19,059,000

$
4,104,810

Accounts Payable

2,100,000
0.228
$
478,800

Long-Term Debt

1,000,000
0.228

228,000

Capital Stock

1,200,000
0.175

210,000

Retained Earnings (balance at beginning

of year)

640,000
computed

108,017*

Sales

14,119,000
0.210
2,964,990

Translation Adjustment






115,003
Total credits

19,059,000

$
4,104,810
*Retained earnings, 1/1/07 (301,000 francs ( $0.175)

$
52,675


Plus net income for 2007 (839,000 francs ( $0.178)


149,342


$
202,017


Less dividends for 2007 (500,000 francs ( $0.188)


94,000

Retained earnings, 12/31/07

$
108,017
Doghead Technology

Income and Retained Earnings Statement

For the Year Ended December 31, 2008

Sales

$
2,964,990

Cost of goods sold


1,676,850
Gross margin

$
1,288,140

Less: Expenses


889,140
Net income

$
399,000

Beginning retained earnings


108,017

$
507,017

Less: Dividends


184,500
Ending retained earnings

$
322,517
22–47.
(Concluded)

Doghead Technology

Balance Sheet

December 31, 2008


Assets

Cash

$
210,900

Accounts receivable


427,500

Inventory


482,220

Equipment


233,700

Total assets

$
1,354,320


Liabilities and Equity

Accounts payable

$
478,800

Long-term debt


228,000

Capital stock


210,000

Retained earnings


322,517

Translation adjustment


115,003
Total liabilities and equity

$
1,354,320
22–48.

In the examples given in the text, the objective was to translate the financial statement items and determine the amount of translation adjustment required to balance the trial balance. In this case, the translation adjustment is given and the amount of Retained Earnings must be solved.

High Society Corp.

Trial Balance



Exchange



Trial Balance
     Rate     
Trial Balance
Cash

£  52,000
$1.80
$
93,600

Accounts Receivable

95,000
1.80

171,000

Inventory

79,000
1.80

142,200

Plant and Equipment

112,000
1.80

201,600

Cost of Goods Sold

285,000
1.84

524,400

Other Expenses

75,000
1.84

138,000

Dividends

70,000
1.85

129,500

Translation Adjustment

               


62,000
Total debits

£768,000

$
 1,462,300
Current Liabilities

£58,000
1.80
$
104,400

Long-Term Debt

43,000
1.80

77,400

Common Stock

80,000
2.05

164,000

Retained Earnings

57,000*
computed

141,300†
Revenues

  530,000
1.84

975,200
Total credits

£768,000

$
1,462,300
22–48.
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*Total debits of $768,000 less credits (excluding retained earnings) of $711,000 = 
retained earnings of $57,000 as of the beginning of the year

†Total debits of $1,462,300 less credits (excluding retained earnings) of $1,321,000 = 
retained earnings of $141,300 as of the beginning of the year

Although not asked for in the problem, the Retained Earnings balance at the end of the year is as follows:

Beginning retained earnings

$
141,300

Plus net income


312,800

$
454,100

Less dividends


129,500
Ending retained earnings

$
324,600
22-49.

1.
The correct answer is a, the current ratio would increase. To illustrate, assume that current assets are $300,000 and current liabilities are $150,000. The current ratio would be 2:1. Reducing both current assets and current liabilities by $50,000 each would result in a current ratio of 2.5:1 ($250,000/$100,000). As long as the current ratio is greater than 1:1, the current ratio will always increase if current assets and current liabilities are reduced by the same dollar amount.

2.
The correct answer is b, the current ratio will decrease. To illustrate, assume that current assets are $150,000 and current liabilities are $100,000. The current ratio would be 1.5:1. Any down payment made with cash (regardless of the amount of the down payment) will cause current assets to decline. Any increase in current liabilities (if a portion of the loan is due in the current period) would cause the current ratio to decline. Some might argue that there is not enough information to answer this question. They will ask for the amount of the down payment and the amount of the loan that is current. Knowing the amounts will not affect the direction of the change in the current ratio.

3.
The correct answer is a, the debt ratio will increase. To illustrate, assume that total liabilities are $320,000 and total assets are $1,000,000. The debt ratio would be 32%. Increasing both total liabilities and total assets by $100,000 would 
increase the debt ratio to 38% ($420,000/$1,100,000). As long as the debt ratio is less than 100%, the debt ratio will always increase if total liabilities and total 
assets are increased by the same dollar amount.

CASES

Discussion Case 22–50

If the only difference between U.S. and foreign firms was a difference in accounting methods, it would not be a major problem to perform the necessary adjustments to be able to make financial ratios internationally comparable. Financial analysts are experienced in doing this very thing to improve the comparability of the financial statements of U.S. companies. However, U.S. and foreign firms differ in more than just 
accounting method choice; they operate in different business environments. For example, financing for most German firms comes not from stockholders but from large banks. Japanese firms are legendary for emphasizing growth in market share over short-term profits. Because U.S. and foreign firms do business in different ways, their financial ratios are not directly comparable, just as the financial ratios of two firms operating in different industries are not comparable. A major challenge facing international financial 
analysts is how to make appropriate adjustments for differing operating environments in order to make proper international ratio comparisons.

Discussion Case 22–51

Drug store:


Net income = $1,050,000 – $1,000,000 – $39,500 = $10,500


Return on sales = $10,500/$1,050,000 = 1%


Total asset turnover = $1,050,000/$50,000 = 21 times


Return on assets = 1% ( 21 = 21%

Department store:


Net income = $670,000 – $600,000 – $36,500 = $33,500


Return on sales = $33,500/$670,000 = 5%


Total asset turnover = $670,000/$200,000 = 3.4 times


Return on assets = 5% ( 3.4 = 17% (rounded)

The department store is more profitable, as measured by the return on sales, but the drug store is more efficient (higher asset turnover) and earns a higher return on its total assets. A lower return on sales with a high turnover often may generate a larger return on assets than a higher return on sales combined with a relatively low turnover.

Discussion Case 22–52

This case is intended to bring out the point that significant deviations from the normal level of a ratio can be a bad sign no matter what the direction of the deviation.

Current ratio: Shaycole’s current ratio is well above the industry norm. This fact would be comforting to Shaycole’s short-term creditors, but it also could indicate that Shaycole has an excess of current assets. A firm certainly needs adequate levels of cash, accounts receivable, and inventory, but there is no benefit to be gained from having an excess. Holding an excess of current assets ties up resources that would be better used elsewhere. The low levels of inventory and accounts receivable (see below) suggest that the excess current assets are in the form of cash and marketable securities.

Inventory turnover: This ratio is usually used to detect sluggish movement in inventory. A slowdown in 
inventory turnover is often an early sign of more serious trouble. However, inventory turnover that is too high also is a warning signal. If inventory levels are too low, the firm may be very vulnerable to supplier problems, strikes, and unexpected increases in demand. In today’s business world, many companies are trying to minimize inventories using the “just-in-time” philosophy. This will cause a significant increase in the inventory turnover.

Discussion Case 22–52  (Concluded)

Accounts receivable turnover: Slow receivable turnover means that excess funds are tied up in receivables and that the possibility of substantial bad debts is increased. However, receivable turnover that is too high also may indicate potential problems. The credit policy may be too restrictive or the collection policy may be too aggressive, driving away potential customers and alienating existing customers.

Debt-to-equity ratio: Again, this ratio is good news to creditors. However, stockholders might not be as pleased. If the firm’s projects can generate a return that is higher than the cost of debt, it would make sense from the stockholders’ standpoint to borrow more, thus leveraging their investment and resulting in a higher return for the same investment.

Discussion Case 22–53

This case provides an opportunity to discuss the use of financial ratios to evaluate the desirability of an investment.

Hoffman Company:


Return on average total assets = $63,000/$280,000 = 22.5%


Return on average stockholders’ equity = $63,000/$210,000 = 30%


Earnings per share = $63,000/6,300 = $10.00


Price-earnings ratio = $100/$10.00 = 10


Book-to-market ratio = $210,000/($100 ( 6,300) = 0.33

McMahon Company:


Return on average total assets = $24,375/$125,000 = 19.5%


Return on average stockholders’ equity = $24,375/$100,000 = 24.38%


Earnings per share = $24,375/2,500 = $9.75


Price-earnings ratio = $78/$9.75 = 8


Book-to-market ratio = $100,000/($78 ( 2,500) = 0.51

The discussion should include the following points:

Hoffman Company has a higher return on equity than McMahon Company. However, if Snow purchases the Hoffman Company stock, she must pay 10 times the level of current earnings, compared to only eight times earnings for McMahon. Of course, other factors may affect the decision, such as the existence of preferred stock, differences in dividends paid, and the nature of the two businesses.

The efficient market hypothesis suggests that historical accounting data cannot be used to predict future movement in stock prices. However, much research has shown that firms with high book-to-market ratios have higher future returns. This would suggest that Snow purchase the shares of McMahon Company.

Discussion Case 22–54

This scenario is very close to what actually happened inside Daimler-Benz in 1993. The chief financial officer, Gerhard Liener, pushed hard to get Daimler-Benz to list its shares in the United States. Mr. 
Liener’s motivation was not so much gaining access to the U.S. securities markets but was exposing Daimler-Benz to the regulatory and disclosure requirements in the United States. Mr. Liener believed that without these requirements, Daimler-Benz would continue to hide operating losses through the reversal of “hidden reserves.” In doing so, the company’s management would delay making the tough decisions needed to fix the company.

Mr. Liener’s story is a sad one. He was later ousted from the management of Daimler-Benz after portions of his diary, critical of the former chairman of the company, were printed. Mr. Liener committed suicide in 1998.

Source: Nathaniel C. Nath, “Ex-Executive of Daimler Is Called Suicide,” The New York Times, December 15, 1998, p. D2.

Discussion Case 22–55

This case focuses on the concept of functional currency as defined in FASB Statement No. 52. This 
concept attempts to determine the primary economic environment in which the subsidiary operates. If the subsidiary generates and expends most of its cash in its local currency, translation is appropriate because the functional currency would be considered the subsidiary’s local currency. Other factors to consider in determining the subsidiary’s functional currency include the forces that determine the firm’s sales price, the location of the subsidiary’s sales market, and the country in which financing is obtained and where production costs are incurred. If it is determined, after the above factors are considered, that the parent company’s currency is the subsidiary’s primary currency, then remeasurement is appropriate. Management makes the final determination in selecting the firm’s functional currency.

A major difference between translation and remeasurement lies in the use of different exchange rates—for example, assets are translated at the exchange rate in effect on the balance sheet date, whereas they are remeasured at the historical rate in effect when they were acquired. Another difference relates to the disclosure of the effect of changing exchange rates. With translation, the difference is reported as an 
equity adjustment on the balance sheet. With remeasurement, the difference is recognized as a gain or loss and recorded on the income statement.

Case 22–56

1.
Return on sales:


Operating

Return on



Income

Revenues

Sales


Media Networks


$2,169
$11,778
18.4%


Parks and Resorts

1,123
7,750
14.5


Studio Entertainment

662
8,713
7.6


Consumer Products

534
2,511
21.3


The Consumer Products segment has the highest return on sales.

2.
Asset turnover:



Identifiable
Asset


Revenues

Assets

Turnover

Media Networks


$11,778
$26,193
0.45


Parks and Resorts

7,750
15,221
0.51


Studio Entertainment

8,713
6,954
1.25


Consumer Products

2,511
1,037
2.42


The Consumer Products segment has the highest asset turnover.

3.
Return on assets:



Operating
Identifiable
Return on




Income


Assets


Assets


Media Networks


$2,169
$26,193
8.3%


Parks and Resorts

1,123
15,221
7.4


Studio Entertainment

662
6,954
9.5


Consumer Products

534
1,037
51.5


The Consumer Products segment has the highest return on assets.

Case 22–56.
(Concluded)

4.
Return on equity cannot be computed for each segment because it is not possible to assign long-term corporate debt and stockholders’ equity to the individual segments. Frequently, financing activities are undertaken at the general corporate level, so it isn’t possible for external users to determine how much leverage is associated with each individual segment.


Disney’s overall ROE for 2004 is 9.0% ($2,345/$26,081).

5.
The foreign currency translation adjustment represents a net increase in equity in 2004 of $23 million. This means that the foreign currencies in the countries where Disney has subsidiaries got stronger in 2004 relative to the U.S. dollar.

Case 22–57

1.
	(in millions)
	    2004   
	   2003    
	   2002   

	Sales by Company-operated restaurants

	$14,223.8
	$12,795.4
	$11,499.6

	Operating costs and expenses

	
	
	

	Food and paper

	4,852.7
	4,314.8
	3,917.4

	Payroll and employee benefits

	3,726.3
	3,411.4
	3,078.2

	Occupancy and other operating expenses

	
3,520.8
	
3,279.8
	
2,911.0

	     Total operating costs and expenses

	$12,099.8
	$11,006.0
	$
9,906.6

	Operating income from Company-operated restaurants

	$  2,124.0
	$  1,789.4
	$  1,593.0


2.

	
	  2004  
	  2003  
	  2002  

	Sales by Company-operated restaurants

	100.0%
	100.0%
	100.0%

	Operating costs and expenses

	
	
	

	Food and paper

	34.1
	33.7
	34.1

	Payroll and employee benefits

	26.2
	26.7
	26.8

	Occupancy and other operating expenses

	  24.8
	  25.6
	  25.3

	     Total operating costs and expenses

	  85.1%
	  86.0%
	  86.1%

	
Operating income from Company-operated restaurants

	  14.9%
	  14.0%
	  13.9%


3.
The common-size income statements for McDonald’s company-owned stores reveal that the 2002–2004 period was a good one for McDonald’s. The company’s overall operating profitability increased each year. In addition, we can learn the secret of what the food and packaging cost is for a $2.00 Big Mac—68.2 cents ($2.00 ( 0.341), assuming (unreasonably) that the profit margin on all items is the same.

Case 22–57.
(Concluded)

4.

	(in millions)
	   2004   
	   2003   
	   2002   

	Overall operating income

	$3,540.5
	$2,832.2
	$2,112.9

	Operating income from Company-operated restaurants

	  2,124.0
	  1,789.4
	  1,593.0

	Difference

	$1,416.5
	$1,042.8
	$   519.9



This preliminary calculation suggests that in most years McDonald’s gets about two-thirds of its 
operating income from company-owned stores and one-third from franchise operations. However, this calculation assumes that ALL the general, administrative, and selling expenses are allocated to 
franchise operations, which is clearly not appropriate; some of these expenses should be allocated to company-owned stores, reducing operating income from company-owned stores and increasing operating income from franchise operations. Therefore, it appears that franchise operations generate about the same operating income as do company-owned stores in most years. The year 2002 
appears to have been a poor one for McDonald’s with operating income from franchise operations down considerably.

Case 22–58

1.

	
	
	PepsiCo
	
	Coca-Cola

	Net income  = 
	
	$4,212 
	
	$4,847 

	Total equity
	
	$13,572 
	
	$15,935 

	
	
	
	
	

	Return on equity………
	
	31.03%
	
	30.42%

	
	
	
	
	

	    Net income  =
	
	$4,212 
	
	$4,847 

	Sales
	
	$26,261 
	
	$21,962 

	
	
	
	
	

	Return on sales………
	
	16.04%
	
	22.07%

	
	
	
	
	

	
	
	
	
	

	         Sales       =
	
	$26,261 
	
	  $21,962 

	Total assets
	
	$27,987 
	
	  $31,327 

	
	
	
	
	

	Asset turnover…….
	
	0.94
	
	0.70

	
	
	
	
	

	    Total assets  = 
	
	$27,987 
	
	$31,327 

	Total equity
	
	$13,572 
	
	$15,935 

	
	
	
	
	

	Assets-to-equity ratio….
	
	2.06
	
	1.97


Case 22–58.
(Concluded)

2.

	
	
	PepsiCo
	
	Coca-Cola

	          Operating income         =
	
	$1,911 
	
	 $5,698 

	   Identifiable operating assets
	
	$6,048 
	
	$25,075 

	
	
	
	
	

	   Return on identifiable 

operating assets…..……..
	
	31.60%
	
	22.72%

	
	
	
	
	

	    Operating income     =
	
	$1,911 
	
	$5,698 

	    Beverage sales
	
	$8,313 
	
	$21,962 

	
	
	
	
	

	   Return on beverage 

      sales………………………. 
	
	22.99%
	
	25.94%

	
	
	
	
	

	
	
	
	
	

	         Beverage sales             =
	
	$8,313 
	
	$21,962 

	Identifiable operating assets
	
	$6,048 
	
	$25,075 

	
	
	
	
	

	Asset turnover………………
	
	1.37
	
	0.88


3.
The DuPont analysis in (1) suggests that PepsiCo is slighty outperforming Coca-Cola, with ROE of 31.03%  vs. 30.42%. The difference is because of asset turnover and an assets-to-equity ratio that compensate for PepsiCo’s low profitability of sales.


The segment data reveal that difference is not solely because of PepsiCo’s nonbeverage operations. In a head-to-head comparison of the beverage segments of the two companies, PepsiCo still wins, with higher return on assets of 31.60% compared to 22.72% for Coca-Cola.

Case 22–59

1.
a.
There is no accumulated depreciation on operating properties under the current value basis 
because accumulated depreciation arises as a result of the allocation of the historical cost of the operating properties to periodic expense. Thus, depreciation is a cost allocation process. In 
contrast, the current value numbers are an attempt at estimating the current market value of the operating properties. As a result, no cost allocation is involved, and no accumulated depreciation is reported.


b.
The total difference between the current value of Rouse’s current assets and the cost basis of the current assets is $9,263 ($336,683 – $327,420), just a small fraction (0.5%) of the total difference of $1,932,405. This suggests that current assets are normally recorded at very near their current value; the deviation between current value and historical cost occurs with long-term assets.



Current Value

Cost



   
Basis



Basis

Prepaid expenses, deferred charges, and

other assets

$
196,952
$
187,689

Accounts and notes receivable (note 6)


92,369

92,369

Investments in marketable securities


3,596

3,596

Cash and cash equivalents


43,766

43,766
Total current assets

$
336,683
$
327,420

c.
In general, it is not possible for the current value basis of Rouse’s total assets to be less than the cost basis. As illustrated throughout the textbook, assets with market values less than book value are generally written down to reflect the lower market value. The valuation of inventory at lower of cost or market is an example, as is the recognition of impairment losses on long-term assets. However, as explained in Chapter 11, FASB Statement No. 144 does not require recognition of an impairment loss whenever market value is less than book value; instead, book value is compared to the undiscounted sum of future cash flows from the asset. Because of this unusual test, it is possible for the recorded cost basis of long-term assets to exceed their current value.

2.
The Rouse Company is a real estate development firm. As a result, a very important part of its business is earning gains from increases in the market value of properties it owns. Because cost-basis accounting does not recognize these holding gains, cost-basis financial statements exclude a very important part of The Rouse Company’s business. Reporting current value numbers is a way for The Rouse Company to provide financial statement users with this information.

3.
Ignoring income tax implications, the journal entry to convert “Property and deferred costs of projects” from the net cost basis of $2,822,775 to the current value basis is as follows:


Property and Deferred Costs of Projects

1,287,614*


Accumulated Depreciation

552,201

Revaluation Equity

1,839,815


*$1,287,614 = $4,662,590 – $3,374,976


Revaluation Equity is one way to recognize this unrealized holding gain. The Rouse Company reports the Revaluation Equity as an additional category in the Equity section of its current value balance sheet.


There are deferred income tax implications here. Because Rouse is estimating that it could sell its properties for more than their cost basis, then there would also be income tax to be paid on the gain. Thus, Rouse would not get to keep the entire increase in the value of the assets but would have to pay some of it as income tax. Basically, this is an issue of deferred taxes. In computing the deferred tax implications of asset revaluation, Rouse uses the estimated present value of the income tax that would have been paid. This lowers the recognized amount of the deferred tax liability. This approach is not acceptable under GAAP, but Rouse can use it with the current value financial statements because those statements aren’t in conformity with GAAP either.

Case 22–59.
(Concluded)

4.
The Rouse Company does not include current value basis financial statements as part of its quarterly financial statements because the cost of preparing the information each quarter makes it impractical. The current value data are compiled only once a year for the annual report. The Rouse Company includes the following statement in the notes to its financial statements: “The current value basis financial statements are not presented as part of the Company’s quarterly reports to shareholders. The extensive market research, financial analyses and testing of results required to produce reliable current value information make it impractical to report this information on an interim basis.”

5.
The Rouse Company gives financial statement users assurance that the current value numbers are reliable in two ways: the auditor makes a separate statement about the current value numbers and an independent appraiser renders an opinion on how reasonable the current value numbers are.


The auditor’s statement is as follows:


As more fully described in note 1 to the consolidated financial statements, the supplemental consolidated current value basis financial statements referred to above have been prepared by management to present relevant financial information about The Rouse Company and its subsidiaries which is not provided by the cost basis financial statements and are not intended to be a presentation in conformity with generally accepted accounting principles.


In addition, as more fully described in note 1, the supplemental consolidated current value basis financial statements do not purport to present the net realizable, liquidation or market value of the Company as a whole. Furthermore, amounts ultimately realized by the Company from the disposal of properties may vary from the current values presented.


In our opinion, the supplemental consolidated current value basis financial statements referred to above present fairly, in all material respects, the information set forth therein on the basis of accounting described in note 1 to the consolidated financial statements.


The report of the independent real estate consultants is as follows:


We have reviewed estimates of the market value of equity and other interests in certain real property owned and/or managed by The Rouse Company (the Company) and its subsidiaries as of December 31, 1996 and 1995. . . . Based upon our review, we concur with the Company’s estimates of the total value of the property interests appraised. In our opinion, the aggregate value estimated by the Company varies less than 10% from the aggregate value we would estimate in a full and complete appraisal of the same interests. A variation of less than 10% between appraisers implies substantial agreement as to the most probable market value of such property interests.

Case 22–60


1.

	
	
	
	2004

	Year
	  Sales 
	 CPI 
	 Dollars

	1981
	$16,580
	90.9
	$34,455

	1982
	17,633
	96.5
	34,517

	1983
	18,585
	99.6
	35,248

	1984
	19,642
	103.9
	35,711

	1985
	19,651
	107.6
	34,499

	1986
	20,312
	109.6
	35,009

	1987
	18,301
	113.6
	30,432

	1988
	13,612
	118.3
	21,735

	1989
	14,325
	124.0
	21,823

	1990
	14,874
	130.7
	21,497

	1991
	15,119
	136.2
	20,969

	1992
	15,152
	140.3
	20,401

	1993
	15,215
	144.5
	19,890

	1994
	15,627
	148.2
	19,919

	1995
	16,398
	152.4
	20,325

	1996
	17,269
	156.9
	20,791

	1997
	22,484
	160.5
	26,462

	1998
	24,484
	163.0
	28,374

	1999
	28,860
	166.6
	32,723

	2000
	31,977
	172.2
	35,078

	2001
	34,301
	177.1
	36,586

	2002
	34,917
	179.9
	36,664

	2003
	35,727
	184.0
	36,678

	2004
	35,823
	188.9
	35,823


2.
In terms of nominal dollar sales, Safeway’s sales have been growing steadily since 1988. However, in terms of constant dollars, sales declined from 1990 to 1993. Constant dollar sales reach their lowest point in 1993. Constant dollar sales also declined from 2003 to 2004.
3.
In the latter part of 1986, Safeway underwent a leveraged buyout and began to get rid of a number of its stores. This shows up as a decrease in sales between 1986 and 1987 and then continuing down in 1988, both in the nominal dollar and constant dollar data.

Case 22–61

To:
The Board of Directors of Jeff Pong Company

From:
Member of the Accounting Staff

Subj:
Conversion of Mak Hung financial statements into U.S. dollars

Once the financial statements of Mak Hung Enterprises have been restated to be in conformity with U.S. GAAP, they will be converted into U.S. dollars using the following process:

(
Assets and liabilities are translated using the current exchange rate prevailing as of the balance sheet date.

(
Income statement items are translated at the average exchange rate for the year.

(
Capital stock is translated at the historical rate, i.e., the rate prevailing on the date Mak Hung was 
acquired.

This process is called translation and is used for all foreign subsidiaries that are considered to be self-contained. A self-contained foreign subsidiary is one that denominates most of its transactions in the local currency (Chinese yuan in this case). The local currency is called the functional currency of the subsidiary. This case contrasts with a subsidiary that primarily serves as a cash conduit for the parent; with this type of subsidiary, many transactions are denominated in U.S. dollars and cash transactions between the 
parent and subsidiary are frequent. For this type of parent-dependent subsidiary, the functional currency is said to be the U.S. dollar and the exchange rate conversion process, called remeasurement, differs 
significantly from the translation process outlined above.

The accounting implications of the translation process are that any gains or losses arising from changes in the U.S. dollar/Chinese yuan exchange rate are not recognized as part of income but are instead reported as a separate category under consolidated equity as part of accumulated other comprehensive income.

Case 22–62

1.
Foreign currency financial statements are financial statements that are denominated in a currency that is not the U.S. dollar (in the case of U.S. companies). A foreign currency transaction is a transaction that is denominated in a currency other than the entity’s functional currency, or the currency in which the entity does the majority of its business.

2.
For assets and liabilities, the exchange rate on the date of the balance sheet is to be applied. Technically, the exchange rate on the date of the recognition of individual revenue, gains, expenses, and losses is to be used. From a practical standpoint, an average exchange rate is to be used.

Case 22–63

The underlying problem here is that the bonus plan rewards the wrong thing. Investors care about the overall return on their investment, and one measure of this is ROE. Return on sales is only one component of ROE but, because of the bonus plan, this is the component that management is focusing on. The real solution to this problem is to redesign the bonus plan to reward managers based on ROE, not return on sales.

But the redesigning of the bonus plan is not going to happen within the next 2 weeks, so what do you do in the meantime? You must present your findings to the chief financial officer. The last thing you should do is keep your boss in the dark about your findings. It would be embarrassing for top management if this proposal were to go forward to the board of directors as a great plan to increase return on sales, only to have one of the board members ask about the impact of the machine acquisition on total ROE. Top managers have 2 weeks to decide what they should do; your responsibility is to present your findings to your boss now to give the top managers time to reevaluate the project.

At the same time that you present your ROE calculations to the chief financial officer, you would also do well to offer some alternative plans of action. In this case, one alternative is to finance the machine acquisition with debt instead of with stockholder investment. The increased interest expense will hurt return on sales (and management bonuses), but the increased leverage may boost ROE enough to make the 
project worthwhile.

Case 22–64

Solutions to this problem can be found on the Instructor’s Resource CD-ROM or downloaded from the Web at http://stice.swlearning.com.
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